# A new application of certain generalized power increasing sequences 

Hüseyin Bor ${ }^{\text {a }}$, H. M. Srivastava ${ }^{* b}$, Waadallah T. Sulaiman ${ }^{\text {c }}$<br>${ }^{a}$ P. O. Box 121, TR-06502 Bahçelievler, Ankara, Turkey<br>${ }^{b}$ Department of Mathematics and Statistics, University of Victoria, Victoria, British Columbia V8W 3R4, Canada<br>${ }^{c}$ Department of Computer Engineering, University of Mosul, Mosul, Iraq


#### Abstract

The main object of this paper is to prove two general theorems by using a two-parameter quasi$f^{(\beta, \sigma)}$-power increasing sequence instead of a quasi- $\beta$-power increasing sequence. The first result (Theorem 2.1) in this paper covers the case when $0<\beta<1$ and $\sigma \geqq 0$. The second main result (Theorem 2.3) in this paper covers the exceptional case when $\beta=1$ and $\sigma \leqq 0$. Each of these theorems also includes several new or known results as their special cases and consequences.


## 1. Introduction, definitions and preliminaries

A positive sequence $\left\{b_{n}\right\}_{n \in \mathbb{N}}$ is said to be almost increasing if there exists a positive increasing sequence $\left\{c_{n}\right\}_{n \in \mathbb{N}}$ and two positive constants $A$ and $B$ such that (see [1])

$$
A c_{n} \leqq b_{n} \leqq B c_{n} \quad(n \in \mathbb{N}:=\{1,2,3, \cdots\}) .
$$

We write

$$
\mathcal{B} \mathcal{V}_{O}=\mathcal{B V} \cap \mathcal{C}_{O}
$$

where

$$
C_{O}:=\left\{x: x=\left\{x_{n}\right\}_{n \in \mathbb{N}} \in \Omega \quad \text { and } \quad \lim _{n \rightarrow \infty}\left|x_{n}\right|=0\right\}
$$

and

$$
\mathcal{B V}:=\left\{x: x=\left\{x_{n}\right\}_{n \in \mathbb{N}} \in \Omega \quad \text { and } \quad \sum_{n=1}^{\infty}\left|x_{n}-x_{n+1}\right|<\infty\right\}
$$

$\Omega$ being the space of all real-valued sequences.

Definition 1.1. A positive sequence $\left\{\gamma_{n}\right\}_{n \in \mathbb{N}}$ is said to be a quasi- $\beta$-power increasing sequence if there exists a constant $K:=K(\gamma ; \beta) \geqq 1$ such that the following inequality holds true (see [10]):

$$
K n^{\beta} \gamma_{n} \geqq m^{\beta} \gamma_{m} \quad(n \geqq m \geqq 1 ; m, n \in \mathbb{N})
$$

[^0]It should be noted that every almost increasing sequence is a quasi $\beta$-power increasing sequence for any nonnegative real number $\beta$, but the converse may not be true as can be seen by considering the following example:

$$
\gamma_{n}=n^{-\beta} \quad(n \in \mathbb{N} ; \beta>0)
$$

Let $\left\{\varphi_{n}\right\}_{n \in \mathbb{N}}$ be a sequence of complex numbers and let $\sum_{n=1}^{\infty} a_{n}$ be a given infinite series with the associated sequence $\left\{s_{n}\right\}_{n \in \mathbb{N}}$ of partial sums. We denote by $z_{n}^{\alpha}$ and $t_{n}^{\alpha}$ the $n$th Cesàro means of order $\alpha$ of the sequences $\left\{s_{n}\right\}_{n \in \mathbb{N}}$ and $\left\{n a_{n}\right\}_{n \in \mathbb{N}}$, respectively, that is,

$$
\begin{equation*}
z_{n}^{\alpha}=\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n} A_{n-v}^{\alpha-1} s_{v} \tag{1}
\end{equation*}
$$

and

$$
\begin{equation*}
t_{n}^{\alpha}=\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v} \tag{2}
\end{equation*}
$$

where

$$
\begin{equation*}
A_{n}^{\alpha}=O\left(n^{\alpha}\right), \quad A_{0}^{\alpha}=1 \quad \text { and } \quad A_{-n}^{\alpha}=0 \quad(n \in \mathbb{N} ; \alpha>-1) \tag{3}
\end{equation*}
$$

By definition, the following series $\sum_{n=1}^{\infty} a_{n}$ is said to be summable as follows:

$$
\varphi-|C, \alpha|_{k} \quad(k \geqq 1 ; \alpha>-1)
$$

if (see [2])

$$
\begin{equation*}
\sum_{n=1}^{\infty}\left|\varphi_{n}\left(z_{n}^{\alpha}-z_{n-1}^{\alpha}\right)\right|^{k}<\infty \tag{4}
\end{equation*}
$$

But, since (see [9])

$$
t_{n}^{\alpha}=n\left(z_{n}^{\alpha}-z_{n-1}^{\alpha}\right)
$$

where $z_{n}^{\alpha}$ is given by (1), the condition (4) can also be written as follows:

$$
\begin{equation*}
\sum_{n=1}^{\infty} n^{-k}\left|\varphi_{n} t_{n}^{\alpha}\right|^{k}<\infty \tag{5}
\end{equation*}
$$

In the special case when

$$
\varphi_{n}=n^{1-\frac{1}{k}} \quad \text { and } \quad \varphi_{n}=n^{\delta+1-\frac{1}{k}} \quad(n \in \mathbb{N} ; k \geqq 1),
$$

the $\left(\varphi-|C, \alpha|_{k}\right)$-summability is the same as the relatively more familiar summabilities:

$$
|C, \alpha|_{k} \quad \text { and } \quad|C, \alpha ; \delta|_{k}
$$

respectively.
Recently, by making use of Definition 1.1, Bor and Özarslan [7] proved the following theorem.
Theorem 1.2. Let $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ be a quasi- $\beta$-power increasing sequence for some real parameter $\beta(0<\beta<1)$, where

$$
X_{n}:=X_{n}(\beta) \quad(n \in \mathbb{N} ; 0<\beta<1)
$$

Suppose also that there exit sequences $\left\{\kappa_{n}\right\}_{n \in \mathbb{N}}$ and $\left\{\lambda_{n}\right\}_{n \in \mathbb{N}} \in \mathcal{B} \mathcal{V}_{O}$ such that

$$
\begin{equation*}
\left|\Delta \lambda_{n}\right| \leqq \kappa_{n} \tag{6}
\end{equation*}
$$

$$
\begin{align*}
& \kappa_{n} \rightarrow 0 \quad(n \rightarrow \infty)  \tag{7}\\
& \sum_{n=1}^{\infty} n\left|\Delta \kappa_{n}\right| X_{n}<\infty \tag{8}
\end{align*}
$$

and

$$
\begin{equation*}
\left|\lambda_{n}\right| X_{n}=O(1) \quad(n \rightarrow \infty) . \tag{9}
\end{equation*}
$$

If there exists an $\epsilon>0$ such that the sequence $\left\{n^{\epsilon-k}\left|\varphi_{n}\right|^{k}\right\}_{n \in \mathbb{N}}$ is non-increasing and if the sequence $\left\{w_{n}^{\alpha}\right\}_{n \in \mathbb{N}}$, defined by (see [11])

$$
w_{n}^{\alpha}= \begin{cases}\left|t_{n}^{\alpha}\right| & (\alpha=1)  \tag{10}\\ \max _{1 \leq 0 \leq n}\left\{\left|t_{v}^{\alpha}\right|\right\} & (0<\alpha<1),\end{cases}
$$

satisfies the following condition:

$$
\begin{equation*}
\sum_{n=1}^{m} n^{-k}\left(\left|\varphi_{n}\right| w_{n}^{\alpha}\right)^{k}=O\left(X_{m}\right) \quad(m \rightarrow \infty) \tag{11}
\end{equation*}
$$

then the series $\sum_{n=1}^{\infty} a_{n} \lambda_{n}$ is summable as follows:

$$
\varphi-|C, \alpha|_{k} \quad(k \geqq 1 ; 0<\alpha \leqq 1 ; k \alpha+\epsilon>1) .
$$

Remark 1.3. Here, in the hypothesis of Theorem 1.2, we have added the following condition:

$$
\left\{\lambda_{n}\right\}_{n \in \mathbb{N}} \in \mathcal{B} \mathcal{V}_{O}
$$

The aim of this paper is to derive extensions of Theorem 1.2 by using a new class of power increasing sequences. For this purpose, we need the concept of the two-parameter quasi- $f^{(\beta, \sigma)}$-power increasing sequences given by Definition 1.4 below.

Definition 1.4. A positive sequence $\mathfrak{c}=\left\{c_{n}\right\}_{n \in \mathbb{N}}$ is said to be a two-parameter quasi- $f^{(\beta, \sigma)}$-power increasing sequence if there exists a constant $\mathcal{K}$ given by

$$
\mathcal{K}:=\mathcal{K}\left(c ; f^{(\beta, \sigma)}\right) \geqq 1
$$

such that the following inequality holds true (see, for details, [13] and [12, p. 703] for the case when $0<\beta<1$ and $\sigma \geqq 0$ ):

$$
\mathcal{K} f_{n}^{(\beta, \sigma)} \mathfrak{c}_{n} \geqq f_{m}^{(\beta, \sigma)} \mathfrak{c}_{m} \quad(n \geqq m \geqq 1 ; m, n \in \mathbb{N}),
$$

where

$$
f^{(\beta, \sigma)}=\left\{f_{n}^{(\beta, \sigma)}\right\}_{n \in \mathbb{N}}=\left\{n^{\beta}(\log n)^{\sigma}\right\}_{n \in \mathbb{N}} \quad(\sigma \in \mathbb{R} ; 0<\beta \leqq 1)
$$

Clearly, if we choose $\sigma=0$, then a quasi- $f^{(\beta, \sigma)}$-power increasing sequence is precisely the same as the above-defined quasi- $\beta$-power increasing sequence.

## 2. A set of main results

Our first main result (Theorem 2.1 below) is based essentially upon Definition 1.4 for the case when $0<\beta<1$ and $\sigma \geqq 0$. It provides one of our proposed extensions of Theorem 1.2 of the preceding section.

Theorem 2.1. Let $\left\{\lambda_{n}\right\}_{n \in \mathbb{N}} \in \mathcal{B} \mathcal{V}_{O}$ and let $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ be a quasi- $f^{(\beta, \sigma)}$-power increasing sequence for some real parameter $\beta(0<\beta<1)$ and some real parameter $\sigma(\sigma \geqq 0)$, where

$$
X_{n}:=X_{n}(\beta, \sigma) \quad(n \in \mathbb{N} ; \sigma \geqq 0 ; 0<\beta<1) .
$$

If the conditions involved in (6) to (9) and (11) are satisfied, then the series $\sum_{n=1}^{\infty} a_{n} \lambda_{n}$ is summable as follows:

$$
\varphi-|C, \alpha|_{k} \quad(k \geqq 1 ; 0<\alpha \leqq 1 ; \sigma \geqq 0 ; k \alpha+\epsilon>1) .
$$

Remark 2.2. If, as in Theorem 2.1, we assume that $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ is a quasi- $f^{(\beta, \sigma)}$-power increasing sequence, where

$$
\begin{equation*}
f^{(\beta, \sigma)}=\left\{f_{n}^{(\beta, \sigma)}\right\}_{n \in \mathbb{N}}=\left\{n^{\beta}(\log n)^{\sigma}\right\}_{n \in \mathbb{N}} \quad(\sigma \geqq 0 ; 0<\beta<1) \tag{12}
\end{equation*}
$$

then the sequence $\left\{n^{\beta}(\log n)^{\sigma} X_{n}\right\}_{n \in \mathbb{N}}$ is non-decreasing. So, as a special case, we can take

$$
\begin{equation*}
X_{n}=n^{-\beta}(\log n)^{-\sigma} \quad(n \in \mathbb{N} ; \sigma \geqq 0 ; 0<\beta<1) . \tag{13}
\end{equation*}
$$

Under this assumption, we find that

$$
\begin{equation*}
\sum_{n=1}^{\infty} n\left|\Delta \kappa_{n}\right| X_{n}<\infty \Longrightarrow \sum_{n=1}^{\infty} \kappa_{n} X_{n}<\infty \quad \text { and } \quad n \kappa_{n} X_{n}=O(1) \quad(n \rightarrow \infty) \tag{14}
\end{equation*}
$$

which holds true for all sequences $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ for which the sequence $\left\{f_{n}^{(\beta, \sigma)} X_{n}\right\}_{n \in \mathbb{N}}$ is at least non-decreasing. But, if we assume that $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ is a quasi- $\beta$-power increasing sequence, that is, if we assume that $\sigma=0$ in (12), then the sequence $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ in (13) would no more imply the assertion in (14), because the sequence $\left\{n^{\beta} X_{n}\right\}_{n \in \mathbb{N}}$ is decreasing (that is, not necessarily non-decreasing) and, therefore, the assertion in (14) is no longer satisfied. Thus, in general, Theorem 1.2 does not imply Theorem 2.1.

We next consider the seemingly exceptional case of Definition 1.4 and Theorem 2.1 when $\beta=1$ and $\sigma \leqq 0$. In this exceptional case, our proposed extension of Theorem 1.2 is given by Theorem 2.3 below.

Theorem 2.3. Let $\left\{\lambda_{n}\right\}_{n \in \mathbb{N}} \in \mathcal{B} \mathcal{V}_{O}$ and let $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ be a quasi- $f^{(1,-\sigma)}$-power increasing sequence for some real parameter $\sigma(\sigma \geqq 0)$, where

$$
X_{n}:=X_{n}(1,-\sigma) \quad(n \in \mathbb{N} ; \sigma \geqq 0) .
$$

Suppose also that all of the conditions of Theorem 2 are satisfied with the condition (8) replaced by the following condition:

$$
\begin{equation*}
\sum_{n=1}^{\infty}(n \log n) X_{n}\left|\Delta \kappa_{n}\right|<\infty \tag{15}
\end{equation*}
$$

Then the series $\sum_{n=1}^{\infty} a_{n} \lambda_{n}$ is summable as follows:

$$
\varphi-|C, \alpha|_{k} \quad(k \geqq 1 ; 0<\alpha \leqq 1 ; k \alpha+\epsilon>1) .
$$

We need each of the following lemmas in our proofs of Theorem 2.1 and Theorem 2.3.
Lemma 2.4. ([8]) If $0<\alpha \leqq 1$ and $1 \leqq v \leqq n$, then

$$
\begin{equation*}
\left|\sum_{p=0}^{v} A_{n-p}^{\alpha-1} a_{p}\right| \leqq \max _{1 \leqq m \leqq v}\left|\sum_{p=0}^{m} A_{m-p}^{\alpha-1} a_{p}\right| . \tag{16}
\end{equation*}
$$

Lemma 2.5. Except for the condition $\left\{\lambda_{n}\right\}_{n \in \mathbb{N}} \in \mathcal{B} \mathcal{V}_{O}$, under the conditions on the sequences $\left\{X_{n}\right\}_{n \in \mathbb{N}},\left\{\kappa_{n}\right\}_{n \in \mathbb{N}}$ and $\left\{\lambda_{n}\right\}_{n \in \mathbb{N}}$ as expressed in the statement of Theorem 2, the following assertions hold true:

$$
\begin{equation*}
n \kappa_{n} X_{n}=O(1) \quad(n \rightarrow \infty) \tag{17}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{n=1}^{\infty} \kappa_{n} X_{n}<\infty . \tag{18}
\end{equation*}
$$

Proof. First of all, we observe that

$$
\begin{aligned}
n \kappa_{n} X_{n} & =n X_{n} \sum_{v=n}^{\infty} \Delta \kappa_{v} \leqq n X_{n} \sum_{v=n}^{\infty}\left|\Delta \kappa_{v}\right| \\
& =n^{1-\beta}(\log n)^{-\sigma} n^{\beta}(\log n)^{\sigma} X_{n} \sum_{v=n}^{\infty}\left|\Delta \kappa_{v}\right| \\
& \leqq n^{1-\beta}(\log n)^{-\sigma} \sum_{v=n}^{\infty} v^{\beta}(\log v)^{\sigma} X_{v}\left|\Delta \kappa_{v}\right| \\
& \leqq \sum_{v=n}^{\infty} v^{1-\beta}(\log v)^{-\sigma} X_{v} v^{\beta}(\log v)^{\sigma}\left|\Delta \kappa_{v}\right| \\
& =\sum_{v=n}^{\infty} v X_{v}\left|\Delta \kappa_{v}\right|=O(1) \quad(n \rightarrow \infty) .
\end{aligned}
$$

Now, since $\kappa_{n} \rightarrow 0$, we have $\Delta \kappa_{n} \rightarrow 0$. Consequently, for a given positive number $\epsilon$ such that

$$
0<\epsilon<\beta+\epsilon<1
$$

we get

$$
\begin{aligned}
\sum_{n=1}^{\infty} \kappa_{n} X_{n} & \leqq \sum_{n=1}^{\infty} X_{n} \sum_{v=n}^{\infty}\left|\Delta \kappa_{v}\right|=\sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| \sum_{n=1}^{v} X_{n} \\
& =\sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| \sum_{n=1}^{v} n^{\beta}(\log n)^{\sigma} X_{n} n^{-\beta}(\log n)^{-\sigma} \\
& =O(1) \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v^{\beta}(\log v)^{\sigma} X_{v} \sum_{n=1}^{v} n^{-\beta}(\log n)^{-\sigma} \\
& =O(1) \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v^{\beta}(\log v)^{\sigma} X_{v} \sum_{n=1}^{v} n^{\epsilon}(\log n)^{-\sigma} n^{-\beta-\epsilon} \\
& =O(1) \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v^{\beta} X_{v}(\log v)^{\sigma} v^{\epsilon}(\log v)^{-\sigma} \sum_{n=1}^{v} n^{-\beta-\epsilon} \\
& =O(1) \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v^{\beta+\epsilon} X_{v} \int_{0}^{v} x^{-\beta-\epsilon} d x \\
& =O(1) \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v^{\beta+\epsilon} X_{v} v^{1-\beta-\epsilon} \\
& =O(1) \sum_{v=1}^{\infty} v\left|\Delta \kappa_{v}\right| X_{v}=O(1) .
\end{aligned}
$$

This completes the proof of Lemma 2.5.
Lemma 2.6. Suppose that all of the conditions of Theorem 2.3 are satisfied. Then the assertions (17) and (18) of Lemma 2.5 are also satisfied.
Proof. Under the hypotheses of Lemma 2.6, it is easily observed that

$$
\begin{aligned}
n \kappa_{n} X_{n} & =n X_{n} \sum_{v=n}^{\infty} \Delta \kappa_{v} \leqq n X_{n} \sum_{v=n}^{\infty}\left|\Delta \kappa_{v}\right| \\
& =(\log n)^{\sigma} n(\log n)^{-\sigma} X_{n} \sum_{v=n}^{\infty}\left|\Delta \kappa_{v}\right| \\
& \leqq(\log n)^{\sigma} \sum_{v=n}^{\infty} v(\log v)^{-\sigma} X_{v}\left|\Delta \kappa_{v}\right| \\
& \leqq \sum_{v=n}^{\infty}(\log v)^{\sigma} v(\log v)^{-\sigma} X_{v}\left|\Delta \kappa_{v}\right| \\
& =O(1) \sum_{v=1}^{\infty}(v \log v) X_{v}\left|\Delta \kappa_{v}\right|=O(1) .
\end{aligned}
$$

Therefore, we have

$$
\begin{aligned}
\sum_{n=1}^{\infty} \kappa_{n} X_{n} & \leqq \sum_{n=1}^{\infty} X_{n} \sum_{v=n}^{\infty}\left|\Delta \kappa_{v}\right|=\sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| \sum_{n=1}^{v} X_{n} \\
& =\sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| \sum_{n=1}^{v} n(\log n)^{-\sigma} X_{n} n^{-1}(\log n)^{\sigma} \\
& \leqq \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v(\log v)^{-\sigma} X_{v} \sum_{n=1}^{v} n^{-1}(\log n)^{\sigma} \\
& =O(1) \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v(\log v)^{-\sigma} X_{v} \int_{1}^{v}(\log x)^{\sigma} x^{-1} d x \\
& =O(1) \sum_{v=1}^{\infty}\left|\Delta \kappa_{v}\right| v(\log v)^{-\sigma} X_{v}(\log v)^{\sigma+1} \\
& =O(1) \sum_{v=1}^{\infty}(v \log v) X_{v}\left|\Delta \kappa_{v}\right|=O(1)
\end{aligned}
$$

This evidently completes the proof of Lemma 2.6.

## 3. Proofs of Theorems 2.1 and 2.3

Proof of Theorem 2.1. Let $T_{n}^{\alpha}$ be the $n$th $(C, \alpha)$-mean of the sequence $\left\{n a_{n} \lambda_{n}\right\}_{n \in \mathbb{N}}$ with $0<\alpha \leqq 1$. Then, by means of (2), we have

$$
\begin{equation*}
T_{n}^{\alpha}=\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v} \lambda_{v} \tag{19}
\end{equation*}
$$

Thus, by first applying Abel's transformation and then using Lemma 2.4, we find that

$$
T_{n}^{\alpha}=\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n-1} \Delta \lambda_{v} \sum_{p=1}^{v} A_{n-p}^{\alpha-1} p a_{p}+\frac{\lambda_{n}}{A_{n}^{\alpha}} \sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v}
$$

and

$$
\begin{aligned}
\left|T_{n}^{\alpha}\right| & \leqq \frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n-1}\left|\Delta \lambda_{v}\right| \cdot\left|\sum_{p=1}^{v} A_{n-p}^{\alpha-1} p a_{p}\right|+\frac{\left|\lambda_{n}\right|}{A_{n}^{\alpha}}\left|\sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v}\right| \\
& \leqq \frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n-1} A_{v}^{\alpha} w_{v}^{\alpha}\left|\Delta \lambda_{v}\right|+\left|\lambda_{n}\right| w_{n}^{\alpha} \\
& =T_{n, 1}^{\alpha}+T_{n, 2}^{\alpha} .
\end{aligned}
$$

Since

$$
\left|T_{n, 1}^{\alpha}+T_{n, 2}^{\alpha}\right|^{k} \leqq 2^{k}\left(\left|T_{n, 1}^{\alpha}\right|^{k}+\left|T_{n, 2}^{\alpha}\right|^{k}\right),
$$

in order to complete the proof of Theorem 2.1, by using (5), it is sufficient to show that

$$
\sum_{n=1}^{\infty} n^{-k}\left|\varphi_{n} T_{n, r}^{\alpha}\right|^{k}<\infty \quad(r=1,2)
$$

Next, when $k>1$, by applying Hölder's inequality with indices

$$
k \quad \text { and } \quad k^{\prime} \quad\left(\frac{1}{k}+\frac{1}{k^{\prime}}=1\right)
$$

we get

$$
\begin{aligned}
\sum_{n=2}^{m+1} n^{-k}\left|\varphi_{n} T_{n, 1}^{\alpha}\right|^{k} & \leqq \sum_{n=2}^{m+1} n^{-k}\left(A_{n}^{\alpha}\right)^{-k}\left|\varphi_{n}\right|^{k}\left(\sum_{v=1}^{n-1} A_{v}^{\alpha} w_{v}^{\alpha}\left|\Delta \lambda_{v}\right|\right)^{k} \\
& \leqq \sum_{n=2}^{m+1} n^{-k} n^{-\alpha k}\left|\varphi_{n}\right|^{k}\left(\sum_{v=1}^{n-1} v^{\alpha k}\left(w_{v}^{\alpha}\right)^{k}\left|\Delta \lambda_{v}\right|\right)\left(\sum_{v=1}^{n-1}\left|\Delta \lambda_{v}\right|\right)^{k-1} \\
& =O(1) \sum_{v=1}^{m} v^{\alpha k}\left(w_{v}^{\alpha}\right)^{k} \kappa_{v} \sum_{n=v+1}^{m+1} \frac{n^{-k}\left|\varphi_{n}\right|^{k}}{n^{\alpha k}} \\
& =O(1) \sum_{v=1}^{m} v^{\alpha k}\left(w_{v}^{\alpha}\right)^{k} \kappa_{v} \sum_{n=v+1}^{m+1} \frac{n^{\epsilon-k}\left|\varphi_{n}\right|^{k}}{n^{\alpha k+\epsilon}} \\
& =O(1) \sum_{v=1}^{m} v^{\alpha k}\left(w_{v}^{\alpha}\right)^{k} \kappa_{v} v^{\epsilon-k}\left|\varphi_{v}\right|^{k} \sum_{n=v+1}^{m+1} \frac{1}{n^{\alpha k+\epsilon}} \\
& =O(1) \sum_{v=1}^{m} v^{\alpha k}\left(w_{v}^{\alpha}\right)^{k} \kappa_{v} v^{\epsilon-k}\left|\varphi_{v}\right|^{k} \int_{v}^{\infty} \frac{d x}{x^{\alpha k+\epsilon}} \\
& =O(1) \sum_{v=1}^{m} v \kappa_{v} v^{-k}\left(w_{v}^{\alpha}\left|\varphi_{v}\right|\right)^{k} \\
& =O(1) \sum_{v=1}^{m-1} \Delta\left(v \kappa_{v}\right) \sum_{r=1}^{v} r^{-k}\left(w_{r}^{\alpha}\left|\varphi_{r}\right|\right)^{k}+O(1) m \kappa_{m} \sum_{v=1}^{m} v^{-k}\left(w_{v}^{\alpha}\left|\varphi_{v}\right|\right)^{k} \\
& =O(1) \sum_{v=1}^{m-1}\left|\Delta\left(v \kappa_{v}\right)\right| X_{v}+O(1) m \kappa_{m} X_{m}
\end{aligned}
$$

$$
\begin{aligned}
& =O(1) \sum_{v=1}^{m-1}\left|(v+1) \Delta \kappa_{v}-\kappa_{v}\right| X_{v}+O(1) m \kappa_{m} X_{m} \\
& =O(1) \sum_{v=1}^{m-1} v\left|\Delta \kappa_{v}\right| X_{v}+O(1) \sum_{v=1}^{m-1} \kappa_{v} X_{v}+O(1) m \kappa_{m} X_{m} \\
& =O(1) \quad(m \rightarrow \infty)
\end{aligned}
$$

by virtue of the hypotheses of Theorem 2 and Lemma 2. Thus, finally, we have

$$
\begin{aligned}
\sum_{n=1}^{m} n^{-k}\left|\varphi_{n} T_{n, 2}^{\alpha}\right|^{k} & =O(1) \sum_{n=1}^{m}\left|\lambda_{n}\right| n^{-k}\left(w_{n}^{\alpha}\left|\varphi_{n}\right|\right)^{k} \\
& =O(1) \sum_{n=1}^{m-1} \Delta\left|\lambda_{n}\right| \sum_{v=1}^{n} v^{-k}\left(w_{v}^{\alpha}\left|\varphi_{v}\right|\right)^{k}+O(1)\left|\lambda_{m}\right| \sum_{n=1}^{m} n^{-k}\left(w_{n}^{\alpha}\left|\varphi_{n}\right|\right)^{k} \\
& =O(1) \sum_{n=1}^{m-1}\left|\Delta \lambda_{n}\right| X_{n}+O(1)\left|\lambda_{m}\right| X_{m} \\
& =O(1) \sum_{n=1}^{m-1} \kappa_{n} X_{n}+O(1)\left|\lambda_{m}\right| X_{m}=O(1) \quad(m \rightarrow \infty)
\end{aligned}
$$

again by virtue of the hypotheses of Theorem 2.1 and Lemma 2.5. Therefore, we obtain

$$
\sum_{n=1}^{m} n^{-k}\left|\varphi_{n} T_{n, r}^{\alpha}\right|^{k}=O(1) \quad(m \rightarrow \infty ; r=1,2)
$$

This evidently completes the proof of Theorem 2.1.
Proof of Theorem 2.3. Our proof of Theorem 2.3 is much akin to that of Theorem 2.1 which we have detailed above fairly adequately. Indeed, in place of Lemma 2.5 , Theorem 2.3 is proven by appealing instead to Lemma 2.6. We choose to omit the details involved.

## 4. Special cases and consequences

Each of the following special cases and consequences of one of our main results (Theorem 2.1 of the preceding section) is worthy of mention here. Theorem 2.3 can similarly be applied in order to derive its various (known or new) corollaries and consequences.

1. If, in Theorem 2.1, we take $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ as a positive non-decreasing sequence and let

$$
\epsilon=1, \quad \sigma=0 \quad \text { and } \quad \beta=\delta+1-\frac{1}{k} \quad(n \in \mathbb{N} ; 0 \leqq \delta<1 ; k \geqq 1)
$$

then we get a result of Bor [3].
2. By setting

$$
\epsilon=1, \quad \sigma=0 \quad \text { and } \quad \beta=1-\frac{1}{k} \quad(n \in \mathbb{N} ; k \geqq 1)
$$

or

$$
\epsilon=1, \quad \sigma=0, \quad \alpha=1 \quad \text { and } \quad \beta=1-\frac{1}{k} \quad(n \in \mathbb{N} ; k \geqq 1)
$$

Theorem 2.1 would yield a new result dealing with the summability factor

$$
|C, \alpha|_{k} \quad \text { or } \quad|C, 1|_{k}
$$

as the case may be.
3. If the sequence $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ is assumed to be an almost increasing sequence, and if

$$
\epsilon=1, \quad \sigma=0 \quad \text { and } \quad \beta=1-\frac{1}{k} \quad(n \in \mathbb{N} ; k \geqq 1)
$$

then Theorem 2.1 reduces to a known result due to Bor and Srivastava [5].
4. If, in Theorem 2.1, we set

$$
\epsilon=1, \quad \sigma=0 \quad \text { and } \quad \beta=\delta+1-\frac{1}{k} \quad(n \in \mathbb{N} ; 0 \leqq \delta<1 ; k \geqq 1)
$$

then we get a result due to Bor [6] involving the summability factor $|C, \alpha ; \delta|_{k}$.
5. If the sequence $\left\{X_{n}\right\}_{n \in \mathbb{N}}$ is taken to be an almost increasing sequence and $\sigma=0$, then Theorem 2.1 would lead us to a result of Bor and Seyhan [4].
6. By setting $\sigma=0$ in Theorem 2.1, we readily obtain Theorem 1.2 proven earlier by Bor and Özarslan [7].

## References

[1] S. Aljančić, D. Arandelović, O-regularly varying functions, Publ. Inst. Math. (Beograd) (N. S.) 22 ( 36) (1977) 5-22.
[2] M. Balcı, Absolute $\varphi$-summability factors, Comm. Fac. Sci. Univ. Ankara Sér. $A_{1} 29$ (8) (1980) 63-80.
[3] H. Bor, Some theorems on absolute summability factors, J. Anal. 5 (1997) 33-42.
[4] H. Bor, H. Seyhan, A note on almost increasing sequences, Comment. Math. Prace Mat. 39 (1999) 37-42.
[5] H. Bor, H. M. Srivastava, Almost increasing sequences and their applications, Internat. J. Pure Appl. Math. 3 (2002) 29-35.
[6] H. Bor, An application of quasi power increasing sequences, Austral. J. Math. Anal. Appl. 1 (2004) Article 6, 1-5 (electronic).
[7] H. Bor, H. S. Özarslan, A study on quasi power increasing sequences, Rocky Mountain J. Math. 38 (2008) 801-807.
[8] L. S. Bosanquet, A mean value theorem, J. London Math. Soc. 16 (1941) 146-148.
[9] E. Kogbetliantz, Sur lés series absolument sommables par la méthode des moyennes arithmétiques, Bull. Sci. Math. 49 (1925) 234-256.
[10] L. Leindler, A new application of quasi power increasing sequences, Publ. Math. Debrecen 58 (2001) 791-796.
[11] T. Pati, The summability factors of infinite series, Duke Math. J. 21 (1954) 271-284.
[12] H. Şevli, L. Leindler, On the absolute summability factors of infinite series involving quasi-power-increasing sequences, Comput. Math. Appl. 57 (2009) 702-709.
[13] W. T. Sulaiman, Extension on absolute summability factors of infinite series, J. Math. Anal. Appl. 322 (2006) 1224-1230.


[^0]:    2010 Mathematics Subject Classification. Primary 40D15; Secondary 40F05, 40G99
    Keywords. Absolute summability, almost increasing sequences, power increasing sequences, quasi- $\beta$-power increasing sequences, Cesàro means, quasi- $f^{(\beta, \sigma)}$-power increasing sequences, infinite series

    Received: 11 September 2011; Accepted: 15 October 2011
    Communicated by Dragan S. Djordjević
    *Corresponding author
    Email addresses: hbor33@gmail.com (Hüseyin Bor), harimsri@math.uvic.ca (H. M. Srivastava*), waadsulaiman@hotmail.com (Waadallah T. Sulaiman)

